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x(t) X (s) Re{s} > σ1

g(t) G(s) Re{s} > σ2

�����	�
���� ax(t) + bg(t) aX (s) + bG(s) Re{s} > max(σ1, σ2)

+���� �	�� x(n)(t) snX (s) − sn−1x(0) −
sn−2x(1)(0)−. . .−x(n−1)(0)

Re{s} > σ1

����������
∫ t

0− x(λ) dλ 1
sX (s) Re{s} > max(0, σ1)

+��������	���
�

��� t

tx(t) − d
ds
X (s) Re{s} > σ1

C	������ �	� t
x(t)
t

∫ ∞
s
X (ξ) dξ Re{s} > σ1
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x(t− t0)u(t− t0) e−st0 X (s) Re{s} > σ1
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s2 �������

e−at x(t) X (s + a) Re{s} > σ1 + Re{a}

6�	������ x(at)! a ∈ R! a > 0 1
aX (s

a) Re{s} > aσ1
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(x ∗ g)(t) X (s)G(s) Re{s} > max(σ1, σ2)

+��������	���
�

��� ��

�

x(t)g(t) 1
2πj

∫ c+j∞
c−j∞ X (z)G(s−z) dz

Re{s} > σ1 + σ2

σ1 < c < Re{s} − σ2
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-
 x(t) ��
 ���	���	 ������	���� ������� � � �
������� �
 ����� ��%�� �	� t = 0!
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x(0+) = lims→∞ sX (s)

limt→∞ x(t) = lims→0 sX (s)


